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Nazev: Warmers

Autor: Kamila Pavlickova

Predmét: Anglicky jazyk pro 2. stupeii (9. ro€nik)

Metodické poznamky: Zaci opravi chyby v 5 vétach, vhodné pouZiti jako warmer na zadatku
hodiny.

Casova narocnost: 5 - 10 minut

Ovéreno: 9.A —20.3.2013



Correct mistakes.

A

She drives her bike.

I'd like go out with my friends.

She’s going to look TV.

They going to visit their grandparents.
Why doesn’t you write a letter to her?
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Correct mistakes.
B

They isn’t going to stay at the hotel.

Are you going to make your homework after dinner?
She is the most happy woman.

They are riding a car.

She losted her umbrella yesterday.
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Correct mistakes.
C

1. He is the faster boy in our class.
2. I'm always walking to school.

3. Childrens are playing a game.
4.1 've bought a mobile on July.

5. They not going to do homework.

Correct mistakes.

D

She have just come.

There’s anything wrong with the raft.
He did dinner for everyone.

I've been in the pet shop.

I showered and went to bed.
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Correct mistakes.

E

I haven’t never been to London.
It costed 2 pounds.

We would like to go sail.

The girls haven't finish.

My mum went in Prague.

Nk =



Reseni

A

She rides her bike.

I'd like to go out with my friends.

She’s going to watch TV.

They re going to visit their grandparents.
Why don’t you write a letter to her?
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They aren’t going to stay at the hotel.

Are you going to do your homework after dinner?
She is the happiest woman.

They are driving a car.

She lost her umbrella yesterday.
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1. He is the fastest boy in our class.

2. I always walk to school.

3. Children are playing a game.

4.1 've bought a mobile in July.

5. They aren’t going to do homework.

She has just come.

There’s something wrong with the raft.
He made dinner for everyone.

I've been to the pet shop.

I had a shower and went to bed.
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I have never been to London.
It cost 2 pounds.

We would like to go sailing.
The girls haven't finished.
My mum went to Prague.
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